ST0544

o5 LBk 5
T eSS
SCM16ABAFPKGIUS

5 2 E Wby - PR 8%

95.6
 ~~esnll-
. 59 _
‘ 545 1
11 325 - -
— | |t

Q7,7

60

70

1

1
—= @)
N,

:
4

y ==y M18 x 1,5
! : -
| M12x1 POTI : LED
— ———
ce
E AR
iy N H 485 Woermm b o 1
SR Pt M16 x 1,5
1
i A
SRR [°C] -25...80
PR [oar] 30
BB
TAERMR V] 20...36 DC
TEIIAKE [MA] <45
AR &
5] A SE J FR i) [s] <20
AR (VAN /i HH
iy N H 48 5 Woerm b o 1
oy HH
I 5 1
i HHAR 5% B B £ 5%
BHEAT PNP
W o 1
iy Ih g HWH /R (TREE 280
BH Rl 1 DC 7R IR e d5 K (i vl 25
B [l i tHDC I RRE R Al [mA] 400

HAR A PR F) » 801648 i i i 4 6 P 1 VU 23556 44B % « Phone: 00886 7 3357778, Fax: 00886 7 3356878,

info.tw@ifm.com — {5 B AR 55 i 180 46011 538 SRR 2 WU BER) . — ZH-TW — ST0544-00 — 06.03.2003 — £



ST0544

T eSS

SCM16ABAFPKG/US

JH R &

T AR i)

0 A 2
W/ B e R

ek [cmis] 3...300
g R o AP RS 11 9 T [cm/s] 3...60
KIS /i 22

AR T B KA [K/min] 15

52 JE K ]

S B R fi] [s] 1..10
R / R

i [é) Tl 5 4 wmArET
T AR

ERBT [°C] -20...80
AN 15T A IP 67
BT S

st [mm] M16 x 1.5
WRAAR R M16 x 1.5
E PBT-GF20
M G ANGligR(1.4571/316Ti)
R M16 x 1,5
FN A/ PR

HoR it 11 x LED
{245 BLA 1 {8

B

gEsL: 1 x M12; 4ikE: A

HAR A PR F) » 801648 i i i 4 6 P 1 VU 23556 44B % « Phone: 00886 7 3357778, Fax: 00886 7 3356878,

info.tw@ifm.com — {5 B AR 55 i 180 46011 538 SRR 2 WU BER) . — ZH-TW — ST0544-00 — 06.03.2003 — £



ST0544

i B A

SCM16ABAFPKG/US

BUEEA

Ve
2,

.
=)

AR A PR F) « 801648 5l 11 i 4x 15 H 1T DU 4 2355£644B = « Phone: 00886 7 3357778, Fax: 00886 7 3356878,

info.tw@ifm.com — k1" {i B4 AN HL 11 80 51171 5

WHAT 2R . — ZH-TW — ST0544-00 — 06.03.2003 — J



